To be frank the instructions are very user friendly for a beginner like me as this is the first time I ever hear of GCI and first time of all the organizations listed on GCI including BRL-CAD  ! Nevertheless I was stuck at some parts and so I would want to elaborate on those.
Measurements
The measurement are explained well in some parts but not at all in others. For e.g
The following  doesn't explain why the z vertex has to be the sum of body.trc, height of body.trc and radius of body.trc.
[image: C:\Users\dell\AppData\Local\Microsoft\Windows\INetCache\Content.Word\Intro_to_BRL-CAD.pdf - Google Chrome 1_12_2020 12_47_25 AM.PNG]
And on page 15/49 I think that there is an error or I am mistaken...
[image: C:\Users\dell\AppData\Local\Microsoft\Windows\INetCache\Content.Word\Intro_to_BRL-CAD.pdf - Google Chrome 1_12_2020 12_55_59 AM.PNG]
It clearly states 0 0 3 but after which it says height 1.5?? I also didn't fully understand the vertexes in the making a chessboard 
tutorial  as shown  below...( the -0.1 part)[image: C:\Users\dell\AppData\Local\Microsoft\Windows\INetCache\Content.Word\Intro_to_BRL-CAD.pdf - Google Chrome 1_12_2020 1_13_45 AM.PNG]


Other  Problems and things to improve
In the beginning after typing in  the first command i.e  
"mged>in base.rcc rc 
Enter X, Y, Z of vertex: 0 0 0
 Enter X, Y, Z of height (H) vector: 0 0 0.6
 Enter radius: 2.25 
Base.rcc"
I think the person should be told that you have to change the view in the graphics window to see what the tutorial shows because when I was starting out this what I got after typing the above command and I got the following 
[image: C:\Users\dell\AppData\Local\Microsoft\Windows\INetCache\Content.Word\MGED 7.26.0 Graphics Window (id_0) - pawn.g - Upper Right 1_12_2020 12_23_57 AM.PNG]
instead of...
 
and I was confused for a while after which I played around and found out I was in a wrong view!  and only then I got it.
And I think its also worth mention you can play around with  the model with the arrow keys! 
I think the command were explained fairly well but one thing I found that could have been elaborated and talked about more is the intersection boolean operator even though it was not used in making the chess tutorial.
Other than all this I encountered no other problem with BRL-CAD :)
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To make the curve use the short-hand method of using the in
command. Type in the Command window:
in curve.tor tor 8 8 2.8 0 8 1 2.85 2.35<ENTER>

Here,

8 @ 2.8 are the x, y, z values of the vertex where 2.8 = 0.6 (z volue
of vertex of body. trc) + 1.7 (height of body. trc) +0.5 (radius of the
top of body. trc).
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As we did in pawn, we will create the body using two shapes: rec and
tre. To create the body, type:

in body.trc trc 6 6 0.8 @ 8 3 2.25 1.1<ENTER>

This command creates a trc ot vertex 8 @ 8.8 with height 8 @ 1.5,
radius of the base 2.25 and radius of top 1.1. Now, to create the
curve, type:
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Creating a single tile for the chessboard
Before beginning, make sure that MGED Command Window is active
(by clicking anywhere in the window). Then type in the command:

in tile.s1 rpp 0101 -0.1 8
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You will get something like this on your Graphics Window:

'MGED 7.28.0 Graphics Window (1d_0) - /home/ell/pawn.g - Upper Right
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